Excel Ak
9. #/IC11~C13IZ [FRHFIZ] ZHRELFL LD,

10. TRHDEHBYIZ, EILEZHELTHRHAIZLEL &5,

A B C D
13 &+ v H 25000 6
14 ME
15 MBS
16 & 3
17
11. Z)LD111Z, %= T=B11xC11] ZAHLEFL &5,

G - x v =) B3 b el 1

A B G D
9 |
10 e i==1iii HE EEE
11 |sa&E v K 1500 5 =B11*C11
12 mnsEx— H 2000l 8 |

12. 2)LD11IZAALE#HAKEZ, DIBETA—FIZ4IITaE—LZELELS,

A B C D
10 m#% B HE T
11 #Et v K 1500 5 7500
12 #i3k+ 7 N 2000 8 16000
13 &t v K 2500 6 15000
14 Ay =

13. £J)LD14IZSUMBI#T. ILD11~D13NEitERDODFEL LS,

IF - x v kK =3UM(D11:D13)

A B C D E
135wy § 2500 6 150001
14 Jh gt —SUM(D11:D13)
15 SME T SUM(EUEL, [Z452], ...)
14 A =y

40




Excel #I#kiR&E

14. £)LD151Z, #= =D14%0.1] ZAHLFL &5,
< 10.1) X —AR—KRTATILFET,

D15 - x v Kk =D14*0.1

A | B | C D
14 v 7 38500
5 HEM =D14*0.1
16 2 & ——

15. £)LD16IZSUMBI#T. £/ILD14~D15MDEEtERDHDFEL LS,

D14 e X v & =SUMI(D14:D15)
A B | ¢ D E
14 g 5 38500
15 NE=gi
16 -

17 |

A B C D

9

10 &% E A e g
11 #Et v | 1,500 5 7,500
12 #igE+F 7 | 2,000 8 16,000
13 @&t v 2,500 6 15,000
14 v 3 38,500
15 HEM 3,850
16 =l 42,350
17

17 EEZFRELFEFL &S,
X ZDIT7F7AIIE, REUBTHFEARALET,

41



Excel #J#RReE

IOk SHERX 6—0 SR

A B C D E
1 10R20H
2 i m =
3
4 {El
5
6 ¥7 hay7ER
.
8 LUToétEsYM@EWILELZDT, TEPLIZE L,
9
10| &=4% B {i HE TiB
11 |[#HEt v K 1,500 5 7,500
12 5BEF 7 K 2,000 3 16,000
13 /82t v H 2,500 6 15,000
14 o F 38,500
15 HER 3,850
16 & 3 42,350
17

42



